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Please answer the following True or False Questions:

1. Articulation difficulties result from an impairment of central linguistic
abilities.

2. The clusters [sk] and [ks] cannot occur in the same word positions in General
American English. This is an example of the allophonic variation.

3. Phonetic variations and allophonic variations are both phonemic realizations.
4. Phonemes are the end products of articulatory motor processes

5. Impaired comprehension of the sound system of a language and the rules that
govern the sound combinations represents a phonological disorder.

6. Speech sounds are transcribed using brackets [ | while phoneme values are
symbolized by slanted lines or so-called virgules / /.

7. The phonemic inventory refers to the inventory of phonemes an individual
uses contrastively.

8. Phonology is not related to the other constituents of the language system such
as morphology, syntax, semantics, or pragmatics.

9. Minimal pairs are exemplified by the following set of words: [hit] and [sit] &
[sit] and [sut]

10. Articulation and phonological disorders never co-occur.

Question no. Answer Question no. Answer
1. F 6. T
2. F 7. T
3. T 8. F
4. F 9. T
5. T 10. F




